f(x)=%x+b

In the function above, b is a constant. If f(6) =7,
what is the value of f(-2) ?

. B) -2
o 1
D) 7

A) —6x—

C) 6x-5
D) 6x%-15x

'«/2’k2+‘17 —x=0 |

If k>0 and x = 7 inthe equation above, what is the
value of k ¢

A) 2

Gyl

D) 5

(xzy - ?:y2 + 53})\/2) 5_(—x2y + 3xy2 - 3y2)
Which of the following is equivalent to the
expression above?

A) 4x%y?
B) 8xyz—6y2

D) 2x% +8xy* — 6y°

3x2—5x+2
5x2-2x-6

Which of the following is the sum of the two
polynomials shown above?

A) 8x%-7x-4
B) 8x%+7x-4

) 8xt-7x%-4

D) 8x*+7x%-4

A function f satisfies f(2) =3 and f(3) = 5. A
function g satisfies g(3) = 2 and g(5) = 6. What is
the value of f(g(3)) ?

h=-16t2+vt+k

The equation above gives the height h, in feet, of a
ball ¢ seconds after it is thrown straight up with an
initial speed of v feet per second from a height of
k feet. Which of the following gives v in terms of
h, t,and k ?

A) v=h+k-16t '

B) v=h-—k+16
te
o v="tE 14

Sf(n) -2 1 4 | 7

The table above shows some values of the linear
function f. Which of the following defines f ?

A) f(n)=n-3
B) f(n)=2n-4
) f(n)=3n-5
D) f(n)=4n-6
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Some values of the linear function f are shown in the

table above. What is the value of £(3) ?

A) 6
8

D) 9




